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1. Verify the identity as either i@r valid.
Vsin?t + cos?t =sint + cost=" | e,
T T ge SN e \“-\_

2. Verify the identity as either@ or valid.
3cos’B+cos6-2=0. :
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3. Make the trig substitutionx=asec 8 for0< 8 < g and a>0. Use fundamental identities to simplify the

resulting expression. X VxZ — a2,
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4. Find all solutions of the equation (c6s 8=1)(sin 8+ 1) = 0.
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5. Find all solutions of the equation that are in the interval [0, 2nr).
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6. lfa‘and B are acute angles such that cosa-gand tan B——- find sin (a + B).
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7. Iftana= —;: and cot B =% for a second-quadrant angle a and a third-quadrant angle [3, find
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8. Indicate whether the reduction formula is correct or incorrect.

cos@-m=-cos®  Cys/g- '1): Co54 C95 71 F Sind Sin 7T
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9. Indicate whether the following equation is an identity.
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10. Use an addition or subtraction formula to find the solutions of the equation that are in the interval
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